gOOp— 0.028 - RS
L : : : : : : ] 4 °
e A A 0.026 e -
3 - : 5 : : : ; . R !5 ;| 0.5
= 0.04 0.024 + .
+ ] i .
= A Q: .
$.035 0.022 E i HEY,
" 0.03 0.02 ‘. :
0.025 0.018 3 A\ *
E N -
0.02 0.016 o s
- + .t 4o L]
0015 0.014 E +++“ -\
0ol 0.012 Y .~
Ol ]« . Y
: 0.01 % * “. W0 el
0.005F ] fm . "
SR | | | | 0.008 - Paon
O-_I 11 1 I 11 1 1 + 11 1 1 + | I T | + 11 1 1 + | I T | + 1 1" T T T T T T T T T T T T T T T T T T T
2 T ; ; ; ; ; 0.b1" 0.015 0.02" 0.d25 0.b3
o I : . [ —=— DQOM_original_step?Z_ttbar-phasel-newgeom
C o A i | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
0'95_ —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
r i | —— DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom_test

095010015 0.02 0025 0.03 0.035
Efficiency vs. cut on dz(PV)
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